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. SR L MEEE (RI—R)
1=t K4 g3 ouT IN Gross HDCP NET
1 X ¥ E# X0 % B 45 38 83 18 65
2 w B & A0 oW 36 38 74 9 65
3 H & 0O G 47 43 90 23 67
AT Jil 4t il ST 42 38 80 12 68
B B th A REAHE 40 38 78 10 68
¥ @ 1E B 2 H 46 44 90 22 68
= O F E ¥ H 40 40 80 12 68
% H B &= ¥ ALGFET 42 43 85 17 68
AN ¥ E—H 2 H 37 38 75 7 68
72 E B = N 45 46 91 23 68
"nT | 8 5 8 = % H 45 41 86 17 69
B 5 B — #5- ALY FET 40 41 81 12 69
X H & B Fey VNS 46 50 96 27 69
147 | /N %5 1 INMUR 51 47 98 28 70
¥ X +HH BEEY)-Y 40 38 78 8 70
5 M UE #5- ALY FET 39 39 78 8 70
g XK 8 T F 39 40 79 9 70
T % E & 2 H 38 40 78 8 70
N P VIR R REY 39 42 81 11 70
B & e 2 H 40 45 85 15 70
21T | %8 H # & % H 45 39 84 13 71
W B 3 BA 2 H 47 43 90 19 71
x i A B W 41 39 80 9 71
N B B B #H & 40 40 80 9 71
B % tF BA moox 42 41 83 12 71
LW &' E HEHE 38 44 82 11 71
21T | 1 B & ¥ HEOE 44 39 83 11 72
= H & 37 3 H 44 39 83 11 72
o OE # moox 41 38 79 7 72
NIl BE O Bh HAOE 41 39 80 8 72
£ JIIl BHEX Lo ER 47 45 92 20 72
5 R & X [ IF 47 48 95 23 72
g B xE # G 39 39 78 6 72
XK %2 52 B R 39 39 78 6 72
x5 IR i Lo EE 38 40 78 6 72
E # B & o 38 41 79 7 72
F & L A 2 H 39 44 83 11 72
¥ X F B ko B 38 46 84 12 72
E kR &8 # moox 34 42 76 4 72
40T | F H =% 3 H 47 43 90 17 73
= & 2o EE 42 38 80 7 73
m g B R T F 44 42 86 13 73
¥ JE Th—HB moom 44 44 88 15 73
R B — 1A FHRLE 49 49 98 25 73
X B B X 2o B IS 42 41 83 10 73
Ik O AH = AT 4 44 46 90 17 73
B E E 2 H 39 41 80 7 73
HE A W 5B Bm R 38 42 80 7 73
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1=t K4 g3 ouT IN Gross HDCP NET
49T | # H E = mo o 43 38 81 7 74
Z H £ = mooE 43 42 85 11 74
= ok B 2 H 44 43 87 13 74
5 )l F 1E Y- T 4y 44 43 87 13 74
g F F = HEAOE 43 43 86 12 74
8 K BAH a4y )L 42 42 84 10 74
B W &K F O 41 41 82 8 74
¥ t & T8 ¥ ALGFET 40 40 80 6 74
€ F & B 2o EE 46 47 93 19 74
m @ OB &£ %2 B 42 44 86 12 74
B F & H HHE 38 41 79 5 74
e O N = % B 39 43 82 8 74
5 B ¥ — ¥ H 40 44 84 10 74
62T | 89 B E—H} FHROE 54 45 99 24 75
el H 15] 2 H 48 44 92 17 75
T = ¥ H 43 39 82 7 75
F B = R 22 H 45 41 86 11 75
W X B A ) 50 46 96 21 75
R 4 2o EE 46 44 90 15 75
Jil | I 2 H 43 40 83 8 75
B A M @ HBH 48 47 95 20 75
H & % B H ¥ 44 44 88 13 75
B R 5 mi 2 H 46 47 93 18 75
b B B I 5 42 44 86 11 75
K =R =3 % B 39 42 81 6 75
B W i HBH 42 46 88 13 75
JNn 5 x #l == 46 51 97 22 75
76T | & H 3 HATE 45 41 86 10 76
K F F A mooxE 41 40 81 5 76
oA ' B HEHE 44 42 86 10 76
S B R iE £ MW 43 42 85 9 76
o B W B % B 44 43 87 11 76
xk H & X % B 47 46 93 17 76
B H B B m R 43 43 86 10 76
E £ BB - HBH 44 44 88 12 76
X R B, A H = 42 43 85 9 76
I BH % 7 Lo ER 44 47 91 15 76
F Ok g & &y B 42 44 86 10 76
VO E X =R 46 51 97 21 76
N x @l A HATHE 41 48 89 13 76
XK % E A 2 H 40 49 89 13 76
T | A JIIl £ & m o & 52 41 93 16 77
Mo R v PR REY 48 41 89 12 77
N FE R OE W 49 44 93 16 77
A & & M % 46 42 88 11 77
B3 i ko B 49 46 95 18 77
HLEE B & 2 H 45 42 87 10 77
kR 3 & 2 FEEOGM 42 42 84 7 77
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i oHZF B A mo o 40 42 82 5 77
E N O 2 HATE 39 48 87 10 77

N¥T | & 5 R FREOGM 45 38 83 5 78
F W B = Y- T 4y 51 43 94 16 78
i S HHE 45 40 85 7 78
E K E X Fey YN ES 50 46 96 18 78
m Bk M OE O 45 44 89 11 78
5 BH M E HATE 45 45 90 12 78
M B FE = ¥ H 48 48 96 18 78

106T | /v 1L & ZoEE 53 51 104 25 79
AAR B E ¥ H 42 46 88 9 79

108T | 4 WU % = moox 46 42 88 8 80
x B o R 2 H 49 50 99 19 80
= i B K KB 48 53 101 21 80
R sh B % B 44 48 92 12 80
el fi — H = 43 49 92 12 80
K & H* B HBH 41 51 92 12 80

14T | 128 B F moox 44 47 91 9 82
A IR B B FMOE 44 46 90 8 82
K & F @ ko B 48 50 98 16 82

17T | F & B & o EE 50 50 100 17 83
m g g X mooE 42 46 88 5 83
h R Jt B fREOGM 41 46 87 4 83

120 | WU I B % 3 H 49 52 101 15 86

1210 | #h & 8 B moox 52 54 106 18 88

122 | 1 B &R R w F 56 49 105 15 90
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